spare parts list
Eco-Stripper 230V EU

Uzin Utz Tools GmbH & Co. KG | Ungerhalde 1 | D-74360 lIsfeld
Telephone: +49 (0)7062 91556-0 | Telefax: +49 (0)7062 91556-44 | www.wolff-tools.com



Table of contents

1 Eco-Stripper 230V EU (01/2000-12/2002)
1 Machine
2 Tool kit
3 Accessories
2 Eco-Stripper 230V EU (01/2003-06/02004)
1 Machine
2 Tool kit
3 Accessories
3 Eco-Stripper 230V EU (07/2004-12/2004)
1 Machine
2 Tool kit
3 Accessories
4 Eco-Stripper 230V EU (01/2005-07/2009)
1 Machine
4 Blade holder set ECO
2 Handle
3 Handle
4 Tool kit
5 Accessories
5 Eco-Stripper 230V EU (08/2009-02/2016)
1 Machine
1 Motor Eco-Str. 230V ab 08/09
4 Blade holder set ECO
2 Handle
3 Handle
4 Circuit diagram
5 Tool kit
6 Accessories
6 Eco-Stripper 230V EU (03/2016-09/2016)
1 Machine
1 Motor Eco-Str. 230V ab 08/09
4 Blade holder set ECO
2 Handle
3 Handle
4 Circuit diagram
5 Tool kit
6 Accessories

Page 2 /75

10
11
13
16
18
19
21
24
26
27
29
31
33
35
37
39
40
42
44
47
49
51
53
55
57
58
60
62
65
67
69
71
73
75

31.03.2024



1 Eco-Stripper 230V EU (01/2000-12/2002)

31.03.2024

Page 3/75



1 Eco-Stripper 230V EU (01/2000-12/2002)

Item no. Article no.

1
2
3

Page 4 /75

01_01 013993
01_05_021263
01_06_013993

Description
Machine
Tool kit

Accessories

31.03.2024



1 Machine

Page 5/75 31.03.2024



1 Machine

Item no. Article no.

© 0 N o Uu W N

W W W W W W W W N N N N NNNNDNNR R PR R 8 P @ @
N4 o0 U A W N R O O O N OO U A WIN R O OV O N U W N R O

Page 6 /75

015221
015414
014931
017657
014707
013345
015386
015415
014815
014770
014718
014961
014752
036009
014863
014745
014916
014860
014775
015227
085139
015226
081980
014923
017954
015416
014768
014824
014827
014779
014820
014861
015001
178579

Description

Striking foot DURO/ECO/Primo

Bearing plate Eco-Stripper

Rubber Bearing Duro/Eco/Primo-Stripper
Shim washer 42x52x2 DIN 988
Ball-bearing 62304

Spare blades, 210 x 60 x 1 mm Duro/Vario
Motor/Eco/BS180/HSW5226nolongeravailable
Eccentric disc Eco-Stripper

Hexagon nut M6 DIN985

Hexagonal screw M 6x16 DIN 933
Cylinder head screw M4x35 DIN 912 10.9 b
twin hole spanner DIN3116-SW35-5.5mm
Cylinder head screw M6x20DIN 912 microve
Blade holder set ECO

Schnorr Washer M14

Cylinder head screw M14x25 DIN 912

Grip GN565 160mm

Schnorr Washer M8

Hexagon bolt M 8x25 DIN 933

Grip Frame DURO

Handle Tube cpl. Duro 2.0

Inner tube Duro

Stiel Primo-Stripper mit T-Griff kpl.

Grip cover/foam

Fixing device ECO

Spacer ring 4.5 mm ECO

T-head bolt M8x70 DIN 186 A

Wing nut M8 DIN 315

Washer M6 DIN 125 A

Hexagonal screw M10x 60 DIN 931
Locknut M10

Washer M10

Rejection clip

Velcro cable tie 20cm black

Quantity

R = = = T N S

=
N

P B N P P B~ NN N P N K P P P NN R NN P 0O PP A

31.03.2024



1 Machine

Item no. Article no. Description Quantity

38 014932 Rubber sleeve 1
0.Abb. 059185 Plug adapter 2-pole 230V CH T11 1
0.Abb. 073312 Adapter Plug 2-pol.230V SK2 UK/Euro 1

Page 7 /75 31.03.2024



2 Tool kit

Page 8/75 31.03.2024



2 Tool kit

Item no. Article no.

o U A W N R

Page 9/75

013345
015229
017598
017612
014962
033203

Description

Spare blades, 210 x 60 x 1 mm Duro/Vario
Blade protection 210mm

Special key SW10 Wolff

Double fork wrench sw10/13 mm

Plastic box 30x65 SM1200/SM800/Duro/LS

Blade protection Duro/Vario/Eco/Primo

Quantity

N e

31.03.2024



3 Accessories

Item no. Article no.

1

2
3
4
5

Page 10/ 75

015315
015809
021263
014676
014675

Description

Hearing protectors

Safety gloves 1 pair

Tool kit Eco/Primo-Stripper

Switch cpl. 230V Eco-Stripper
Carbon brush Set 230V Eco-Stripper

Quantity

N S N

31.03.2024



2 Eco-Stripper 230V EU (01/2003-06/02004)

31.03.2024

Page 11/75



2 Eco-Stripper 230V EU (01/2003-06/02004)

Item no. Article no.

1
2
3

Page 12 /75

01_01 013993
01_05_021263
01_06_013993

Description
Machine
Tool kit

Accessories

31.03.2024



1 Machine

Page 13/75 31.03.2024



1 Machine

Item no. Article no.

© 0 N o Uu W N

W W W W W W W W N N N N NNNNDNNR R PR R 8 P @ @
N4 o0 U A W N R O O O N OO U A WIN R O OV O N U W N R O

Page 14 /75

015221
015414
014931
017657
014707
013345
015386
015415
014815
014770
014680
014961
014752
036009
014863
014745
014916
014860
014775
015227
085139
015226
081980
014923
017954
015416
014768
014824
014827
014779
014820
014861
015001
178579

Description

Striking foot DURO/ECO/Primo

Bearing plate Eco-Stripper

Rubber Bearing Duro/Eco/Primo-Stripper
Shim washer 42x52x2 DIN 988
Ball-bearing 62304

Spare blades, 210 x 60 x 1 mm Duro/Vario
Motor/Eco/BS180/HSW5226nolongeravailable
Eccentric disc Eco-Stripper

Hexagon nut M6 DIN985

Hexagonal screw M 6x16 DIN 933
Special screw 5x35mm ECO

twin hole spanner DIN3116-SW35-5.5mm
Cylinder head screw M6x20DIN 912 microve
Blade holder set ECO

Schnorr Washer M14

Cylinder head screw M14x25 DIN 912
Grip GN565 160mm

Schnorr Washer M8

Hexagon bolt M 8x25 DIN 933

Grip Frame DURO

Handle Tube cpl. Duro 2.0

Inner tube Duro

Stiel Primo-Stripper mit T-Griff kpl.

Grip cover/foam

Fixing device ECO

Spacer ring 4.5 mm ECO

T-head bolt M8x70 DIN 186 A

Wing nut M8 DIN 315

Washer M6 DIN 125 A

Hexagonal screw M10x 60 DIN 931
Locknut M10

Washer M10

Rejection clip

Velcro cable tie 20cm black

Quantity

R = = = T N S

=
N

P B N P P B~ NN N P N K P P P NN R NN P 0O PP A

31.03.2024



1 Machine

Item no. Article no. Description Quantity

38 014932 Rubber sleeve 1
0.Abb. 059185 Plug adapter 2-pole 230V CH T11 1
0.Abb. 073312 Adapter Plug 2-pol.230V SK2 UK/Euro 1

Page 15/75 31.03.2024



2 Tool kit

Page 16/ 75 31.03.2024



2 Tool kit

Item no. Article no.

o U A W N R

Page 17 /75

013345
015229
017598
017612
014962
033203

Description

Spare blades, 210 x 60 x 1 mm Duro/Vario
Blade protection 210mm

Special key SW10 Wolff

Double fork wrench sw10/13 mm

Plastic box 30x65 SM1200/SM800/Duro/LS

Blade protection Duro/Vario/Eco/Primo

Quantity

N e

31.03.2024



3 Accessories

Item no. Article no.

1

2
3
4
5

Page 18/ 75

013345
015229
017598
017612
014962

Description

Spare blades, 210 x 60 x 1 mm Duro/Vario
Blade protection 210mm

Special key SW10 Wolff

Double fork wrench sw10/13 mm

Plastic box 30x65 SM1200/SM800/Duro/LS

31.03.2024



3 Eco-Stripper 230V EU (07/2004-12/2004)

31.03.2024

Page 19/ 75



3 Eco-Stripper 230V EU (07/2004-12/2004)

Item no. Article no.

1
2
3

Page 20/ 75

03_01 013993
01_05_021263
01_06_013993

Description
Machine
Tool kit

Accessories

31.03.2024



1 Machine

31.03.2024

Page 21/75



1 Machine

Item no. Article no.

© 0 N o Uu W N

A W W W W W W W NN NNIDNNDNDNINNNRR R R RPB R R pP
©O 0 N A W N R O O ® N O U M W N B O O 0O N U W N R O

Page 22 /75

015221
015414
014931
017657
014707
013345
015386
015415
014815
014770
014680
014858
014752
036009
014863
014745
014916
014860
014775
015227
085139
015226
081980
014923
017954
015416
014768
014824
014827
014877
014919
178579
014932
017997

Description

Striking foot DURO/ECO/Primo

Bearing plate Eco-Stripper

Rubber Bearing Duro/Eco/Primo-Stripper
Shim washer 42x52x2 DIN 988
Ball-bearing 62304

Spare blades, 210 x 60 x 1 mm Duro/Vario
Motor/Eco/BS180/HSW5226nolongeravailable
Eccentric disc Eco-Stripper

Hexagon nut M6 DIN985

Hexagonal screw M 6x16 DIN 933
Special screw 5x35mm ECO

Schnorr washer M5

Cylinder head screw M6x20DIN 912 microve
Blade holder set ECO

Schnorr Washer M14

Cylinder head screw M14x25 DIN 912
Grip GN565 160mm

Schnorr Washer M8

Hexagon bolt M 8x25 DIN 933

Grip Frame DURO

Handle Tube cpl. Duro 2.0

Inner tube Duro

Stiel Primo-Stripper mit T-Griff kpl.

Grip cover/foam

Fixing device ECO

Spacer ring 4.5 mm ECO

T-head bolt M8x70 DIN 186 A

Wing nut M8 DIN 315

Washer M6 DIN 125 A

Clamping lever M8 Duro

Star grip bolt M8x55

Velcro cable tie 20cm black

Rubber sleeve

Shrink tubing no longer available

Quantity

R = = = T N S

=
N

N B = N N B N NN P N P P P P NN P NN P 0 & & p»

31.03.2024



1 Machine

Item no. Article no. Description Quantity
0.Abb. 059185 Plug adapter 2-pole 230V CH T11 1
0.Abb. 073312 Adapter Plug 2-pol.230V SK2 UK/Euro 1

Page 23 /75 31.03.2024



2 Tool kit

Page 24 /75 31.03.2024



2 Tool kit

Item no. Article no.

o U A W N R

Page 25/ 75

013345
015229
017598
017612
014962
033203

Description

Spare blades, 210 x 60 x 1 mm Duro/Vario
Blade protection 210mm

Special key SW10 Wolff

Double fork wrench sw10/13 mm

Plastic box 30x65 SM1200/SM800/Duro/LS

Blade protection Duro/Vario/Eco/Primo

Quantity

N e

31.03.2024



3 Accessories

Item no. Article no.

1

2
3
4
5

Page 26/ 75

015315
015809
021263
014676
014675

Description

Hearing protectors

Safety gloves 1 pair

Tool kit Eco/Primo-Stripper

Switch cpl. 230V Eco-Stripper
Carbon brush Set 230V Eco-Stripper

Quantity

N S N

31.03.2024



4 Eco-Stripper 230V EU (01/2005-07/2009)

Page 27 /75 31.03.2024



4 Eco-Stripper 230V EU (01/2005-07/2009)

Item no. Article no.

1

2
3
4
5

Page 28/ 75

04_01_013993
04_02_013993
04_03 015027
01_05_021263
01_06_013993

Description
Machine
Handle
Handle

Tool kit

Accessories

31.03.2024



1 Machine

31.03.2024

Page 29/ 75



1 Machine

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

0.Abb.
0.Abb.

Page 30/ 75

015386
015414
015221
036009
017657
014707
013345
015415
014815
014772
014931
014752
014827
049282
014858
014680
059185
073312

Description
Motor/Eco/BS180/HSW5226nolongeravailable
Bearing plate Eco-Stripper

Striking foot DURO/ECO/Primo

Blade holder set ECO

Shim washer 42x52x2 DIN 988

Ball-bearing 62304

Spare blades, 210 x 60 x 1 mm Duro/Vario
Eccentric disc Eco-Stripper

Hexagon nut M6 DIN985

Hexagon head bolt M 6x22 DIN 933

Rubber Bearing Duro/Eco/Primo-Stripper
Cylinder head screw M6x20DIN 912 microve
Washer M6 DIN 125 A

Stopper @25,0 black

Schnorr washer M5

Special screw 5x35mm ECO

Plug adapter 2-pole 230V CH T11

Adapter Plug 2-pol.230V SK2 UK/Euro

Quantity

=
N e e

F P A A H A~ ®© &~ A

31.03.2024






4 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

Page 32 /75

015223
014772
014815
014827
014962

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



2 Handle

Page 33/75 31.03.2024



2 Handle

Item no. Article no.

© 00 N o u b~ W N -

o e T T = Y S Ry et o
© 00 N O U A W N BB O

Page 34 /75

015227
085139
015226
081980
014863
014745
014916
014860
014775
014923
017954
015416
014768
014824
014877
014919
178579
014932
017997

Description

Grip Frame DURO

Handle Tube cpl. Duro 2.0

Inner tube Duro

Stiel Primo-Stripper mit T-Griff kpl.
Schnorr Washer M14

Cylinder head screw M14x25 DIN 912

Grip GN565 160mm

Schnorr Washer M8

Hexagon bolt M 8x25 DIN 933
Grip cover/foam

Fixing device ECO

Spacer ring 4.5 mm ECO
T-head bolt M8x70 DIN 186 A
Wing nut M8 DIN 315
Clamping lever M8 Duro

Star grip bolt M8x55

Velcro cable tie 20cm black
Rubber sleeve

Shrink tubing no longer available

Quantity

N P B N N N N N P NN OO NN P B P =

31.03.2024



3 Handle

Page 35/75 31.03.2024



3 Handle

Item no. Article no.

© 00 N o u b~ W N -

0.Abb.

Page 36/ 75

084706
017574
014925
014935
014816
014828
017624
014768
014824
084706

Description

Handel Duro-Stripper with VG cplt.

Upper handle tube

Special handle Duro

End cap outer tube

Hexagon nut M8 DIN 985
Washer M8 DIN 125 A
Hexagon bolt M 8x50 DIN 931
T-head bolt M8x70 DIN 186 A
Wing nut M8 DIN 315

Handel Duro-Stripper with VG cplt.

Quantity

P N N B B R R N =B B

31.03.2024



4 Tool kit

Page 37 /75 31.03.2024



4 Tool kit

Item no. Article no.

o U A W N R

Page 38/ 75

013345
015229
017598
017612
014962
033203

Description

Spare blades, 210 x 60 x 1 mm Duro/Vario
Blade protection 210mm

Special key SW10 Wolff

Double fork wrench sw10/13 mm

Plastic box 30x65 SM1200/SM800/Duro/LS

Blade protection Duro/Vario/Eco/Primo

Quantity

N e

31.03.2024



5 Accessories

Article no.
015315
015809
021263
014676
014675

Page 39/ 75

Description

Hearing protectors

Safety gloves 1 pair

Tool kit Eco/Primo-Stripper

Switch cpl. 230V Eco-Stripper
Carbon brush Set 230V Eco-Stripper

Quantity

N S N

31.03.2024



5 Eco-Stripper 230V EU (08/2009-02/2016)

Page 40/ 75

‘e

S

©

/ 4, |

ey
NSy

31.03.2024



5 Eco-Stripper 230V EU (08/2009-02/2016)

Item no. Article no.

o U A W N R

Page 41 /75

05_01 013993
05_02_013993
05_03_015027
05_04 054363
01_05 021263
01_06_013993

Description
Machine
Handle

Handle

Circuit diagram
Tool kit

Accessories

31.03.2024



1 Machine

10

31.03.2024

Page 42 /75



1 Machine

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

0.Abb.
0.Abb.
0.Abb.
0.Abb.
0.Abb.
0.Abb.

Page 43 /75

054363
054367
015221
036009
017657
014707
013345
015415
014815
014772
014931
014752
014827
049282
014858
014680
059185
073312
015215
083110

042160

Description

Motor Eco-Str. 230V ab 08/09

Bearing plate Eco-Stripper ab 08/09
Striking foot DURO/ECO/Primo

Blade holder set ECO

Shim washer 42x52x2 DIN 988
Ball-bearing 62304

Spare blades, 210 x 60 x 1 mm Duro/Vario
Eccentric disc Eco-Stripper

Hexagon nut M6 DIN985

Hexagon head bolt M 6x22 DIN 933
Rubber Bearing Duro/Eco/Primo-Stripper
Cylinder head screw M6x20DIN 912 microve
Washer M6 DIN 125 A

Stopper @25,0 black

Schnorr washer M5

Special screw 5x35mm ECO

Plug adapter 2-pole 230V CH T11
Adapter Plug 2-pol.230V SK2 UK/Euro
Cable 2x12x4m black w.plug

El.cord 2x12x4m 230V w.plug CH

Supply cable 2x12x4m 230V m. Plug UK
Cable 2x2,52x4m black SEE 15215

Quantity

R = = T S R SR

=
N

L = = T = S R U O = R~ o« AN SR N

31.03.2024



1 Motor Eco-Str. 230V ab 08/09

38 36

16 4 17 20 17 10 40

11

30 47/ 34/ [32 |33\ 33

8 |45

31.03.2024

Page 44 /75



1 Motor Eco-Str. 230V ab 08/09

Item no. Article no.

© N O B~ W N -

Page 45/ 75

055346
055347
041566
072699
067671
067640
072698
018091
078189
080986
080987
080988
072696
080989
079628
055618
079629
014680
079420
080990
080991
080992
055616
079627
080993
017001
080995
055617
055615
080996
080997
060520
080998
014676

Description

Gear housing Motor EcoStr.06/09
Bearing shield Motor EcoStr.08/09
Spindle BS180 (Perles) from 2004
ZZZGear Kit Eco Motor

Washer 0.3 Eco-Motor

Washer 0.2 Eco-Motor

Spacer Eco-Motor

Circlip 135 DIN472

Rectifier Eco Motor

Locking button Eco-Motor

Spring Eco-Motor

Pin Eco-Motor

Ball bearing 6003-2RSH/C3 Eco Motor

Nut Eco-Motor

Washer Eco-Motor

Bearing Motor EcoStr.08/09
Screw 5x6 Eco-Motor

Special screw 5x35mm ECO
Housing Eco-Str.ab 06/09

Baffle plate Eco-Motor

Coal support 230V Eco-Motor
Cover Eco-Motor

Carbon 230V Motor Eco-5tr.08/09
Rubber sleeve Eco-Motor

Screw Eco-Motor

Ball Bearing 6000 2RSH

Holder Eco-Motor

Armature 230V Motor EcoStr.08/09
Stator 115/230V Motor EcoStr.08/09
Wire Eco-Motor

Wire 45mm Eco-Motor

Stopper no longer available
Spring Eco-Motor

Switch cpl. 230V Eco-Stripper

Quantity

P P P N N B P N R N B B NN PP PR DM DR N PR R O O O R R N NNRLR R R R

31.03.2024



1 Motor Eco-Str. 230V ab 08/09

Item no. Article no.

55
56
57
70
78
80
83
250

Page 46/ 75

080999
081000
081001
072697
081002
081003
014684
060461

Description
Cord guard Eco-Motor

Clamp Eco-Motor
Screw Eco-Motor
Circlip Eco-Motor
Plate Eco-Motor
Cable EU Eco-Motor
Start up resistor Eco

Handle pair Motor EcoStr. 08/09

Quantity
1

13

N N

31.03.2024






4 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

Page 48/ 75

015223
014772
014815
014827
014962

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



2 Handle

Page 49/ 75 31.03.2024



2 Handle

Item no. Article no.

© 00 N o u b~ W N -

o e T T = Y S Ry et o
© 00 N O U A W N BB O

Page 50/ 75

054368
085139
015226
081980
014861
018156
014916
014860
014775
014923
017954
014829
014768
014824
014877
014919
178579
014932
014828

Description

Grip Frame Eco-Stripper ab 08/09
Handle Tube cpl. Duro 2.0

Inner tube Duro

Stiel Primo-Stripper mit T-Griff kpl.
Washer M10

Hexagonal screw M10x 30 DIN 933
Grip GN565 160mm

Schnorr Washer M8

Hexagon bolt M 8x25 DIN 933
Grip cover/foam

Fixing device ECO

Washer M10 DIN 125 A

T-head bolt M8x70 DIN 186 A
Wing nut M8 DIN 315

Clamping lever M8 Duro

Star grip bolt M8x55

Velcro cable tie 20cm black
Rubber sleeve

Washer M8 DIN 125 A

Quantity

N P B N N N N O F N N DN P W W P P P =

31.03.2024



3 Handle

-

o

1 O
pd

-~

10 s

Page 51/75 31.03.2024



3 Handle

Item no. Article no.

© 00 N o u b~ W N -

=
= O

Page 52 /75

084706
017574
014768
014824
017624
014816
014925
178579
014935
079873
084706

Description

Handel Duro-Stripper with VG cplt.

Upper handle tube

T-head bolt M8x70 DIN 186 A
Wing nut M8 DIN 315
Hexagon bolt M 8x50 DIN 931
Hexagon nut M8 DIN 985
Special handle Duro

Velcro cable tie 20cm black
End cap outer tube

Safety washer M8 LL

Handel Duro-Stripper with VG cplt.

Quantity

P N P B N R P NN R B

31.03.2024



4 Circuit diagram

1| 230-240V | 2

Page 53/75 31.03.2024



4 Circuit diagram

Page 54 /75 31.03.2024



5 Tool kit

Page 55/75 31.03.2024



5 Tool kit

Item no. Article no.

o U A W N R

Page 56/ 75

013345
015229
017598
017612
014962
033203

Description

Spare blades, 210 x 60 x 1 mm Duro/Vario
Blade protection 210mm

Special key SW10 Wolff

Double fork wrench sw10/13 mm

Plastic box 30x65 SM1200/SM800/Duro/LS

Blade protection Duro/Vario/Eco/Primo

Quantity

N e

31.03.2024



6 Accessories

Item no. Article no.

1

2
3
4
5

Page 57 /75

015315
015809
021263
014676
014675

Description

Hearing protectors

Safety gloves 1 pair

Tool kit Eco/Primo-Stripper

Switch cpl. 230V Eco-Stripper
Carbon brush Set 230V Eco-Stripper

Quantity

N S N

31.03.2024



6 Eco-Stripper 230V EU (03/2016-09/2016)

‘/iﬁ @ - ~N/

\ / 0 WA
7 N

| 7 @

(S
//7

Page 58 /75 31.03.2024



6 Eco-Stripper 230V EU (03/2016-09/2016)

Item no. Article no.

o U A W N R

Page 59/ 75

05_01 013993
06_02_013993
05_03_015027
05_04 054363
01_05 021263
01_06_013993

Description
Machine
Handle

Handle

Circuit diagram
Tool kit

Accessories

31.03.2024



1 Machine

10

31.03.2024

Page 60/ 75



1 Machine

Item no. Article no.

© 00 N o u b~ W N -

L e = =
o U A W N R O

0.Abb.
0.Abb.
0.Abb.
0.Abb.
0.Abb.
0.Abb.

Page 61/ 75

054363
054367
015221
036009
017657
014707
013345
015415
014815
014772
014931
014752
014827
049282
014858
014680
059185
073312
015215
083110

042160

Description

Motor Eco-Str. 230V ab 08/09

Bearing plate Eco-Stripper ab 08/09
Striking foot DURO/ECO/Primo

Blade holder set ECO

Shim washer 42x52x2 DIN 988
Ball-bearing 62304

Spare blades, 210 x 60 x 1 mm Duro/Vario
Eccentric disc Eco-Stripper

Hexagon nut M6 DIN985

Hexagon head bolt M 6x22 DIN 933
Rubber Bearing Duro/Eco/Primo-Stripper
Cylinder head screw M6x20DIN 912 microve
Washer M6 DIN 125 A

Stopper @25,0 black

Schnorr washer M5

Special screw 5x35mm ECO

Plug adapter 2-pole 230V CH T11
Adapter Plug 2-pol.230V SK2 UK/Euro
Cable 2x12x4m black w.plug

El.cord 2x12x4m 230V w.plug CH

Supply cable 4m 230V m. Plug UK

Cable 2x2,52x4m black SEE 15215

Quantity

R = = T S R SR

=
N

L = = T = S R U O = R~ o« AN SR N

31.03.2024



1 Motor Eco-Str. 230V ab 08/09

38 36

16 4 17 20 17 10 40

11

30 47/ 34/ [32 |33\ 33

8 |45

31.03.2024

Page 62 /75



1 Motor Eco-Str. 230V ab 08/09

Item no. Article no.

© N O B~ W N -

Page 63/ 75

055346
055347
041566
072699
067671
067640
072698
018091
078189
080986
080987
080988
072696
080989
079628
055618
079629
014680
079420
080990
080991
080992
055616
079627
080993
017001
080995
055617
055615
080996
080997
060520
080998
014676

Description

Gear housing Motor EcoStr.06/09
Bearing shield Motor EcoStr.08/09
Spindle BS180 (Perles) from 2004
ZZZGear Kit Eco Motor

Washer 0.3 Eco-Motor

Washer 0.2 Eco-Motor

Spacer Eco-Motor

Circlip 135 DIN472

Rectifier Eco Motor

Locking button Eco-Motor

Spring Eco-Motor

Pin Eco-Motor

Ball bearing 6003-2RSH/C3 Eco Motor

Nut Eco-Motor

Washer Eco-Motor

Bearing Motor EcoStr.08/09
Screw 5x6 Eco-Motor

Special screw 5x35mm ECO
Housing Eco-Str.ab 06/09

Baffle plate Eco-Motor

Coal support 230V Eco-Motor
Cover Eco-Motor

Carbon 230V Motor Eco-5tr.08/09
Rubber sleeve Eco-Motor

Screw Eco-Motor

Ball Bearing 6000 2RSH

Holder Eco-Motor

Armature 230V Motor EcoStr.08/09
Stator 115/230V Motor EcoStr.08/09
Wire Eco-Motor

Wire 45mm Eco-Motor

Stopper no longer available
Spring Eco-Motor

Switch cpl. 230V Eco-Stripper

Quantity

P P P N N B P N R N B B NN PP PR DM DR N PR R O O O R R N NNRLR R R R

31.03.2024



1 Motor Eco-Str. 230V ab 08/09

Item no. Article no.

55
56
57
70
78
80
83
250

Page 64 /75

080999
081000
081001
072697
081002
081003
014684
060461

Description
Cord guard Eco-Motor

Clamp Eco-Motor
Screw Eco-Motor
Circlip Eco-Motor
Plate Eco-Motor
Cable EU Eco-Motor
Start up resistor Eco

Handle pair Motor EcoStr. 08/09

Quantity
1

13

N N

31.03.2024






4 Blade holder set ECO

Item no. Article no.

1

2
3
4
5

Page 66/ 75

015223
014772
014815
014827
014962

Description

Deflector new Duro/Vario/Eco/Primo
Hexagon head bolt M 6x22 DIN 933
Hexagon nut M6 DIN985

Washer M6 DIN 125 A

Plastic box 30x65 SM1200/SM800/Duro/LS

Quantity

=~ b b =

31.03.2024



2 Handle

Page 67 /75 31.03.2024



2 Handle

Item no. Article no.

© 00 N o u b~ W N -

I e e e =
0 N o 1A W N B O

Page 68/ 75

054368
085139
015226
081980
014861
018156
014916
014860
014775
014923
014829
014768
014824
014877
014919
178579
014932
014828

Description

Grip Frame Eco-Stripper ab 08/09
Handle Tube cpl. Duro 2.0

Inner tube Duro

Stiel Primo-Stripper mit T-Griff kpl.
Washer M10

Hexagonal screw M10x 30 DIN 933
Grip GN565 160mm

Schnorr Washer M8

Hexagon bolt M 8x25 DIN 933
Grip cover/foam

Washer M10 DIN 125 A

T-head bolt M8x70 DIN 186 A
Wing nut M8 DIN 315

Clamping lever M8 Duro

Star grip bolt M8x55

Velcro cable tie 20cm black
Rubber sleeve

Washer M8 DIN 125 A

Quantity

N B FF N N N N O N N DN P W W P BP P =

31.03.2024



3 Handle

-

o

1 O
pd

-~

10 s

Page 69/ 75 31.03.2024



3 Handle

Item no. Article no.

© 00 N o u b~ W N -

=
= O

Page 70/ 75

084706
017574
014768
014824
017624
014816
014925
178579
014935
079873
084706

Description

Handel Duro-Stripper with VG cplt.

Upper handle tube

T-head bolt M8x70 DIN 186 A
Wing nut M8 DIN 315
Hexagon bolt M 8x50 DIN 931
Hexagon nut M8 DIN 985
Special handle Duro

Velcro cable tie 20cm black
End cap outer tube

Safety washer M8 LL

Handel Duro-Stripper with VG cplt.

Quantity

P W Rk B N R P NN R B

31.03.2024



4 Circuit diagram

1| 230-240V | 2

Page 71 /75 31.03.2024



4 Circuit diagram

Page 72 /75 31.03.2024



5 Tool kit

Page 73/ 75 31.03.2024



5 Tool kit

Item no. Article no.

o U A W N R

Page 74 /75

013345
015229
017598
017612
014962
033203

Description

Spare blades, 210 x 60 x 1 mm Duro/Vario
Blade protection 210mm

Special key SW10 Wolff

Double fork wrench sw10/13 mm

Plastic box 30x65 SM1200/SM800/Duro/LS

Blade protection Duro/Vario/Eco/Primo

Quantity

N e

31.03.2024



6 Accessories

Item no. Article no.

1

2
3
4
5

Page 75/ 75

015315
015809
021263
014676
014675

Description

Hearing protectors

Safety gloves 1 pair

Tool kit Eco/Primo-Stripper

Switch cpl. 230V Eco-Stripper
Carbon brush Set 230V Eco-Stripper

Quantity

N S N

31.03.2024


http://www.tcpdf.org

	Table of contents
	1 Eco-Stripper 230V EU (01/2000-12/2002)
	1 Machine
	2 Tool kit
	3 Accessories

	2 Eco-Stripper 230V EU (01/2003-06/02004)
	1 Machine
	2 Tool kit
	3 Accessories

	3 Eco-Stripper 230V EU (07/2004-12/2004)
	1 Machine
	2 Tool kit
	3 Accessories

	4 Eco-Stripper 230V EU (01/2005-07/2009)
	1 Machine
	4 Blade holder set ECO

	2 Handle
	3 Handle
	4 Tool kit
	5 Accessories

	5 Eco-Stripper 230V EU (08/2009-02/2016)
	1 Machine
	1 Motor Eco-Str. 230V ab 08/09
	4 Blade holder set ECO

	2 Handle
	3 Handle
	4 Circuit diagram
	5 Tool kit
	6 Accessories

	6 Eco-Stripper 230V EU (03/2016-09/2016)
	1 Machine
	1 Motor Eco-Str. 230V ab 08/09
	4 Blade holder set ECO

	2 Handle
	3 Handle
	4 Circuit diagram
	5 Tool kit
	6 Accessories


